ANALYTIC GEOMETRY (CIRCLE) REVIEW EXERCISES I

1. What s the center and the radivs of the equation 7. If the circle given by the equation
EEEET 2, . .
(x-3)"+(y+2)7=47 x* 49" —6x+8y+k =0 istangent to x-axis, then

A)CG2)and £=4 B)C(32)and =2 what is the value of &7
GERWL BEBME L o oo pe

2. Which one of the followings is the center C and the 8 Fi . . . .
. A ) 4 5 . Find the equaiion of the circle, whose center 1s on
radiusr of the circle 4x" +4y” -8+ 24y =817 the point C(-2,-3) and is tangent to the y-axis.
A) C(4=-12);r=? BYC(1,-3),r=9 A) ¥’ 437 +6x+4y+9=0
]

C)C(l,—3);r=; D)C(1,-3);r=11 B) ¥+  +6x-4y-9=0

9 C) ¥ +)” +4x+6y+9=0

E) C(l,-3),1’—5 D) x* 4+ —4x—6y4+9=0

E) &% +3! +dx+63-9=0

3. The points A(-2,1) and B(2,5) are given. Which one
of the followings is the equation of the circle, with
diameter [AB] ?

109, Ifthecirele 2%+t ~2x+4y+m =0 is tangent to

2 2
AV +(¥+3) =242 the line x=-3, find m.

B)(x-3)"+y =8
C)x +(y-3) =8
D)(x+3)" +y =22
E)x~ +y: =8

A4 Bl -4 D)8 E)-ll

7 10. The center of a circle is on the point C(2,3) and it’s
. radius is 5. Find the abscissa values of the

4. What s the radius of the equation o intersection points of the circle by the v-axis.
Ay v —dy—4=07

A)44  B)-17 €)-26 D) 3,5 E)-53

A)l B)2 C)3 D)4 E)s

. What is the equation of the tangent line that is
tangent to the circle (x-1)"+(y+1)*= 8 at
5. Where does the circle (x-3)*+(y+2)7= 4 the point A -1,1)?
cul the x —axis ?

Ay=x  Bly=x3  C)y=22

Al B2 O3 D)4 E)S Diy=3x E)y=x2

12. Find y-value of the point that lies on the circle

6. If the circle x* +3-’2 —2x+y—a+3=0 sstangent to (x=2Y +(p+1)" =25 and is nearest to the point
v =1, then what ts a? P(10,5).
A)-l1 By C)5 Dy  E)8 A2 B3 04 Dy E)10
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13. Find the equation of the line that is tangent to the
circle (x~2F +(1—3)" =" at the point A(1,2),

A) x+y+3=0 B) —x+y+3=0
C)2x—p+3=0 D)2x+y-4=0
E) x+»-3=0

14. Which one of the followings is the equation of the
[ine that is tangent 1o the circle

¥ ' -8x+2y—8=0 al the point A(1,3)?

A) 3x+4y-15=0
C)3x—4dy+9=0
E) dx+35y-10=0

B) dx+3y-13=0
D) 3x-5y+12=0

15, Which one of the Tollowings is the radius of the
circle that passes through the points A(0,1) and
B(1.-3)and whose center is on the line y=x-37

34

2

AT B ©2 D)3 E) %

16. Let B be the nearest point of the circle

2

Ty dx46y -3 =0 to the point A(-4,5).
What is |AB[?

A)6 B)S ©4 I3 E)2

17. It the circles % +(y—6)* =17 and
(x—8) + 3’ =25 are intemally tangent , then find
F.

A)S B)1o <15 DYy20 E)2s

18. What is the shortest chord passing through A(1,1)
for the circle x?+y 2 +x-y—11 =07

Aye B3 O4 D)3 BE)2

19. The line 2x— v+2 =0 intersect the circle

¥ +3' =16 atihepoints 4 and B. The

perpendicular line segment drawn from the center
of the circle to the line AB intersect it at the point
H. Find the y-value of H.

B) -

4 3
AY — - D
)5 10 C)S ) )

taf—
Wity

20. Inside the circle x° +v? =625 , the chords with

length 48-cm are drawn, Which one of the
followings is the geometric place of the midpoints
of the chords?

B) &7 +° =169
D) x*+3" =49

A) ¥’ 4yt =25
C) ¥' + 3" =576
By +y' =144



